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<xsl:stylesheet xmins:xsl=" ttp:/fwww.w3.org/TR/WD-xsl >
<xsl:template>
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</xsl:template> '
</xsl:stylesheet>
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<Mxml version="1.0" encoding=" GB2312"?>
<2xml-stylesheet type=" text/xsl” href=" a.xsl 7>
<questions>

<question>

<content>7t OSIAREIR R M BIBETTIRE "B
A DER

B. HUEERE

D. Rz

<fcontent>

<answer>B</answer>
</question>
< B BERE >

</questions>

</XML>

<html> <head>

<script type=" text/javascript>

function check(x) {

rs=xmldso.recordset // BB EIE DR EN R
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| Realization of exercises in network class by means of XML data island

alen("75 )

J else | alert(
J
)

function move-pointer(m) |

x=xmldso.recordset // 7£ 3 %3

if (m==1) {

x.movefirst() // 55+ £ F— 0 =

}if (m==2) {

if (x.absoluteposition < x.recordcount){ // #5470 # B
T—MER

x.movenext() } //3
|

if (m==3) { if (x.absoluteposition > 1) { x.moveprevious()// i¢’
am o3
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|
J
if (m==4) | x.movelast() //
}

}
<Jseript>

</head>

<body>

<span datasre=" #xmldso datafld=" content” </span>
<br>

<table width=60%>

<td align=left>

<input type=" radio” name=" ans” value=" A" onclick=" check(this) >A
<hd>

<td align=left>

<input type=" radio” name=" ans~ value=" A" onclick=" check(this)” B</
>

<td align=left>

<inputtype=" radio” name=" ans~ value=" C onclick=" check(this)” C</
>

<td align=left><input type=" radio name="ans  value=" D" onclick=" check
(this) >D< ftd>

</table>

value= " onclick=" move-pointer(1)” />

<p><input type=  button

“onclick=" move-pointer(2) />

<input type=" button” value=

<input type=" button  value= @ onclick=" move-pointer(3) />

i

“onclick=" move-pointer(4)” />

<input type= button value=
<p> </body>
<html> N
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